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(*) Instructions to candidates:

1) Answer Q.1 ORQ.2,Q.30R Q.4 and Q.5
2) Figures to the right indicate full marks.
3)  Use of scientific calculator is allowed

4)  Use suitable data whereever required

Q1) a)

b)

c)

Q2) a)

b)

c)

Q3) a)

b)

c)
Q4) a)

Find the equation of sphere on the join of the points
(2,-3,1); (1,-2,-1)as its diameter.
Obtain the equation of the right circular cone, which passes through the point (2, 1,3) with
x=-2 _y-1_z+2

-4 3
Find the equation of right circular cylinder whose guiding curve is
X +y +2=9,x-y+z=3

vertex is at (1,1,2)and axis parallel to the line

OR

Find the equation of circle which is section to the sphere x*+ > +2’ +6y-6z-21=0
and having center at (2,-1,3).
Obtain the equation of the right circular cone, with vertex is at (1,-1,2)and axis parallel to

-1 _ y+l z-2

the line x2 5 and semi vertical angle 45°

x=2 =y_3=z+land

Find the equation of right circular cylinder whose axis is the line : :

radius is 5.
' guf e
Express the following integral [ [ e dxdy
0y/4

[V1-x? J1-x -
dzdxdy
Evaluate [ |

J' PR - e [
0 0 0 JI-x-y-7

Find the total area of astroide x**+ y*° = a**
OR
] L)
Evaluate I dxje ~y" log ydy
0 1
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b)

1-x*

1
xl 2
Evaluate Idx I e" " dy
o 0
€)  Find the volume cut offby x* +y* =z* from sphere x* +y*+2’ =a’

Q.5) Attempt following questions:[20 marks]

1.\ 4
Find -order and degree of the differential equation (%J +[%] +y=0.

. Find LF. of the D.E. gz+23.y =x2.
X

w

Find orthogonal trajectory for the family of y = mx
4 What is amplitude of the first harmonic of Fourier series

5 o
Using DUIS rule find Ed-( e"zdt]
X

x

6 Iff(x)= a’ -x*>in 0 <x <a then find value of ag in Fourier series

7 0
Evaluate Ie'x\[;dx .
0
8 2r
-
Evaluate I= _[ sin” xdx
0

Find asymptotes of the curve y*(x-a)=x*(2a-x) .
10 ml2
Evaluate [ +tanxdx .
0

‘4llr****#*#lll*#*#****#**ttIOI*****t-t#****Ilﬂlrt**#**"I*!I#h**ttt*t*tt*tt****#**t**#*t*******

?Aﬁ& -&:),01 02

NN



